20254 78 2= = -
il ZIAIC}IT ...-...-"“"-__I.LE >
F F7HACE = J‘é‘ﬂf_‘r_‘ﬂ _g_ooI:AI-1_| =
= % sz =MEX|ME - £
= o = 10A] ZH4] 2 STHEX|ME] - ST SH0]H| 0 Ef
g _ = v Al (il
i [ Bt /8] = = 3A| ZHAl g =
E7H0| A2 f et Bag/MAR -
7 zHeea Abat & %R N ol 4t 713 e /ok A =
Z HELLE +2 & 2R O{oF RS QalAm SOl =
= 3[_'.:: = a—— E%"_’F_E—I
o FHYH F BLE A ¥ ¥
= S A2 fh i ZEY LU
o L 203 gt = A2 Y ofZor 2 S
+5 7T HY = 21 % JalA D S Al2H2]
B /THM A 647kcal/28.0g - of 2f /ChuH F82 - B = 21 |
B O[ 8 /3 = A 2F/CHEH Xl 743kcal/31.3g | @A Z rTyE 4
EvE e | Holg/ars =—= = 3 /TH & 672kcal/34.2g
7FXtO| O] oax | EHXUARXMM/AMFZ o -_2 EEN TN EePN =
s Aurme +Ea 2l o2 o BN ARAT AR
8 ADIIFHE S e T2 X 23 i sk sl oA o|
R Q3 X| A2xx2 Ty JtRILt 2
= o
W Lher 2 %] +Z29l =M= Ao ot ;“:Irfj
=271 % A =
B Y /Tt Al 712kcal/37.7g - o312k /Cty 1za 2 PRPIA b 2 21 X
BH O[BF /8] = A /T Al 826kal/30.0g | EAIAU+2 7 r—
= =g/ ol _ = 2+ of 2k /C}HH XI 7.
EEL, 2 bt IR/ = Si A /U E 743kcal/30.69
2h x| Qb L HFLFLE S SHE} 2t EEEY T ES
ZEX| ! TE% K CH B =
7/9 AxOI:I +° O [l g EF |_I|_'.It_’||' —i—_?__l?’_MI;H
SFUE LS SE2% AlS AR
A M&oISMES =y AR +4 3 A %I 6l 2| o 7] 7 o
o NE HhLELE o150k &S Y ZAziLg
o Lt 2 x| +2 9 =AY FCHg gt oE:)lkl%*%".‘j
o4 FE ° A A 2t 7|
A ZF/CHE Rl 737kcal/40.69 - e HHQ""7| +Z R 22| 3]
tﬂ!l:l Hl /5 ; =2 °/|_|'_|IE| 772kC0|/379g WCHZ BEALE| od 2k El-HHxT (=]
oND 7| o] KA T TS _ A Z /T A 588kcal/23.7g
e P = ol o/a= oraf e
=710 X ut ol g e =2t PSP D
710 LoWELLD =5 7] X Rof e
o Eq?: HTOHE A2 x| L2 +H| X2 A e =
oTT+o o CHi [=] = %0 S
- A ° Az = | x| 2 &l
Bl L|-HF7::I' 8t CA ® Do m 2+ b
e W= 7| 5| T S A2
AP /CH A 664kcal/29.4g - — Az +HI X LA sl
B O] OF /5] = A3 /THMEl 627kcal/33.4g ~ut o ra
o lele=s ol H} . =4 o 2 /CHUH Xl 659k
ek Raldl e H2lg/or R = o o /Tt & 659kcal/29.5g
Act2|d At 2t HAE M N e 21788/ S A S
7/1 9oLte +Z 3ol ZHH| & ;f—oalal' 3 d| X| ®| H
- |_ -
2 2YHS U Y EOLERIZEA| M e HXIGAMRS
- =2 At 2t ngofo| P HFALE
Y Lt 2| X +Z 3ol EAEY etz et YRI5 S
i me [=DNE=1
42 /CHe Rl 620kcal/26.8g } ey kil HH='=I;|;-?|
B o9 /8 = o 2F /CHEH Xl 781kcal/35.0g |FHAEI2t+2 8| Wy EI'HHXT 4
ag= Ut FFE/EE #| EIY/CHUE 736keal/46.0
e 2 A X AR H E 2 g CERJEEES
72 LEMES +4 E| 1] o} O & SAHEH J%IF_; gt a ot 2 &
Mmoo = _ 2 -+-
s 0| =™ sugey 1252 2N2LLRS
=AY 2 A K| dEnd S G
o Lt ot 2| X| +oll E] 1] of =AY R CHT Bt _i%qa +E2%
[ =R - 2t 21
83/HHE 692keal/32.8g - 04at/l:ruuaxr . e bkl i % 21 %
ol /8= S So/cAs 658kcal/27.7g |mezuiolegz| Hag/CHE Rl o
ofe 3 2t HOlg /M > A= oiE 2/EHHE 578kcal/29.4g
stxto] 2 of Ze EE = L R ES
7113 A2EL S +Z 39l of0] 0] 21“{_ 2t2HE2
ol CE2 20 P =y UAZMBE +& At ;’1?‘1?1”
= A2 EotE azgy S Lazuss
B Lpek21 X Z 3| ol sz & 1 pof SEHXAUARE=E
- HY =21 % = S Al2H2
B/ 616keal/27.89 ; Mt/m“ir;; +& 4+ 2% a7
2 O C o]
g} oloi 2 Soa > /EAS al/36.5g A 2F/CHE Xl 622kcal
of [dolZTadi | A | = ol M 2t xto| M9 A ——= = cal/29.2g
= = AH: o 4 Al OF 4&F 2] Al ot At 2| A| O AF YT - ZH L LEX| Z 0|
s 7 A 5 (] E LF .
- :AI _E.‘glleolﬂLI- xdg -?—HIX| I:”°.|I— Hi| _I=D A %_E_IA_I_ HI £ CEAF
& IOTJ Ssaus | Ruy | OeRuy | Fus 25 s 2%
HlJlk H=.55.5) -l B = 2 X |Z_Z.I"= 71, A I|::_7| % =2dold | ES:Sud H 2 4
. +=/1, o = =
x| I Ui 2 U A 2 AJoF A G o = FEUR, LAY [HIFES, ASE, 258
HA(ESH, "N, B, A=Y, 0 F, 2, 0F72  IUM = L =TT
' - a g, l_lMI) @ I:H_'_gl ﬂ-
ET of AlCte AR{E 43
— s B = -r=,°" U:I'E_I' EI_?OJEEJ_J'\_%%LIEI_Q




